

St. Louis County, Minnesota



Date of Report: 5/18/2025 10:14:03 AM

			General De	tails				
Parcel ID:	380-0010-0409	95						
Document:	Abstract - 7186	630						
Document Date:	02/05/1998							
		Leg	gal Descriptio	on Details				
Plat Name:	GRAND LAKE							
Section	То	wnship	ship Range			Lot		
20		51		16	-		-	
Description:	West 65 feet of of Govt Lot 1	of E1/2 of E1/2	of E1/2 of Govt L	ot 1 AND E1/2 of	N1/2 of E1/2 of	f Govt Lot 1 AND W1	/2 of E1/2 of E'	
			Taxpayer D	etails				
Faxpayer Name	LARSON LER	DY E						
and Address:	18861 COUNT	RY CLUB LAN	IE					
	YORBA LINDA	CA 92686						
			Owner Det	ails				
Owner Name	LARSON FAM							
		Paya	able 2025 Tax	Summary				
	2025 - Net	Tax			\$3,751.5	0		
	cial Assessme	al Assessments			\$14.50			
	otal Tax &	Special Asse	ssments	\$3,766.0	0			
		Curren	t Tax Due (as	of 5/17/2025)	I.			
Due M	ay 15	1	Due Octob	per 15		Total Due		
2025 - 1st Half Tax	2025 - 21	2025 - 2nd Half Tax \$1,883.00		.00 2025 -	2025 - 1st Half Tax Due			
2025 - 1st Half Tax \$1,883.00 2025 - 1st Half Tax Paid \$1,883.00		2025 - 21	2025 - 2nd Half Tax Paid \$1,883.					
			2025 - 2nd Half Due \$0.00		_	2025 - Total Due		
2025 - 1st Half Due	\$0.00	2025 - 2			.00 2025 -	Total Due	\$0.00	
			Parcel Det	ails				
Property Address:	5255 TAYLOR	RD, SAGINAV	V MN					
School District: Tax Increment District:	704							
Tax increment District.	-							
Property/Homesteader		Assessme	nt Details (20	25 Payable 20)26)			
Property/Homesteader:			Bldg	Total	Def Land	Def Bldg EMV	Net Tax Capacity	
	Homestead	Land	EMV				Capacity	
Class Code (Legend)	Homestead Status Homestead	EMV \$219,800	\$157,500	EMV \$377,300	EMV \$0	\$0	<u> </u>	



St. Louis County, Minnesota



Date of Report: 5/18/2025 10:14:03 AM

				Land Do	etails				
Deed	ded Acres:	15.01							
Wate	erfront:	GRAND							
Wate	er Front Feet:	418.00							
Wate	er Code & Desc:	W - DRILLED WELL							
Gas	Code & Desc:	-							
Sew	er Code & Desc:	S - ON-SITE SANIT	ARY SYST	EM					
_ot \	Width:	0.00							
Lot [Depth:	0.00							
The (dimensions shown are no	ot guaranteed to be surv	ey quality. /	Additional lot	information can be	e found at			
nttps	://apps.stiouiscountymn.	gov/webPlatsiframe/frmF			etails (CABIN	tions, please email PropertyT	ax@stiouiscountymn.gov		
	mprovement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc		
	HOUSE	1953	94		944	-	CAB - CABIN		
ſ	Segment	Story	Width	Length	Area	Foundat			
	BAS	3.tory 1	12	20	240	- Junuar			
	BAS	1	22	20 32	704	-			
	DK	1	5	5	25	POST ON GF			
	DK	1	6	22	132	POST ON G			
l	Bath Count	Bedroom Count				Fireplace Count	HVAC		
	0.75 BATH	2 BEDROOMS			oun	•	CENTRAL, ELECTRIC		
	0.75 BATT	2 BEDROOMS	-	-			CENTRAL, ELECTRIC		
			-		etails (SAUNA	•			
li	mprovement Type	Year Built	Main Floor Ft ²		Gross Area Ft ²	Basement Finish	Style Code & Desc		
ſ	SAUNA	1942	180 Width Lenc		180	-	-		
	Segment	•		Length					
	BAS	1	10	18	180	POST ON GF			
	DKX	1	8	12	96	POST ON GF	ROUND		
		Im	proveme	ent 3 Deta	ils (BOATHOL	JSE)			
h	mprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc		
S	FORAGE BUILDING	1945	28	8	288	-	-		
	Segment	Story	Width	Length	Area	Foundat	ion		
	BAS	1	12 24 288 POST ON GROUND		ROUND				
			mprovei	ment 4 De	tails (GARAG	E)			
l	mprovement Type	Year Built	Main Flo	oor Ft 2	Gross Area Ft ²	Basement Finish	Style Code & Desc		
GARAGE		1998	998 576		576	-	DETACHED		
	Segment	Story	Width	Length	Area	Foundat	ion		
	BAS	1	24	24	576	-			
	LT 1		9 24		216 POST C		N GROUND		
	Improvement 5 Details (SLEEPER)								
			Main El	oor Ft 2	Gross Area Ft ²	Basement Finish	Style Code & Desc		
	mprovement Type	Year Built							
lı	mprovement Type SLEEPER	Year Built 1972	Wain Fi 48		480	-	-		
						- Foundat	- ion		
	SLEEPER	1972	48	0		- Foundat FLOATING			







Date of Report: 5/18/2025 10:14:03 AM

		Improvem	ent 6 Details (C	ONTAINER)				
Improvement Type Year Built		Main Flo	oor Ft ² Gross	Area Ft ² Base	ement Finish	nent Finish Style Code &		
STORAGE BUILDING 0		16	0 1	60	-		-	
Segme	Segment Story		dth Length Area		Foundation			
BAS 1		8	20	160	POST ON GROUND			
		Improver	nent 7 Details (PB 36X40)				
Improvement Typ	e Year Built	Main Flo	oor Ft ² Gross	Area Ft ² Base	ement Finish	Style (Code & Desc.	
POLE BUILDING 2022		1,44	1,440 1,44					
Segment Sto		y Width	Width Length Area		Foundation			
BAS	1	36	40	1,440	FLOATING SLAB			
		Improve	ement 8 Details	(5X7 ST)				
Improvement Typ					ement Finish	Style Code & Desc.		
STORAGE BUILDIN			35 35					
Segme			Length	Area	Foundation			
BAS	BAS 1 5 7		7	35	POST ON G	ROUND		
	:	Sales Reported	to the St. Louis	s County Audito	ſ			
Sa	le Date		Purchase Price		CRV	/ Number		
07	7/1993	\$35,000 (T	\$35,000 (This is part of a multi parcel sale.)			93582		
		A	ssessment Hist	ory				
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
	151	\$219,800	\$164,000	\$383,800	\$0	\$0	-	
2024 Payable 2025	Total	\$219,800	\$164,000	\$383,800	\$0	\$0	3,838.00	
	151	\$184,500	\$136,300	\$320,800	\$0	\$0	-	
2023 Payable 2024	Total	\$184,500	\$136,300	\$320,800	\$0	\$0	3,208.00	
	151	\$158,000	\$101,900	\$259,900	\$0	\$0	-	
2022 Payable 2023	Total	\$158,000	\$101,900	\$259,900	\$0	\$0	2,599.00	
	151	\$130,900	\$69,500	\$200,400	\$0	\$0	-	
2021 Payable 2022	Total	\$130,900	\$69,500	\$200,400	\$0	\$0	2,004.00	
		' ר	ax Detail Histo	ry				
Tax Year	Тах	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Build MV		al Taxable MV	
2024	\$3,269.50	\$12.50	\$3,282.00	\$184,500	\$136,300)	\$320,800	
2023	\$2,825.50	\$12.50	\$2,838.00	\$158,000	\$101,900)	\$259,900	
2022	\$2,485.50	\$12.50	\$2,498.00	\$130,900	\$69,500		\$200,400	







Date of Report: 5/18/2025 10:14:03 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.